3%2 Zimmer Wohnung (W1 /W11 /W21) M 1:50

| [ | —

7 7
I i)
: 104 & 4,048
]
T = 1.06 —
o _J C
pors Dusche/Bad/WC — @ ———— ™
| 12d0me
RIS Jﬁa N 2, b T
44 534 \15 1,165 10 242 < — M0 ——— T ——
1.05
o | Zimmer 2 ‘ : = + il T
16,06 m? b B | A A (S —
I L | ]
/g —— — — 1— — =
3 = 7N . I S
at S 104 \\[_J e
T Zimmer 1 o 2 w7
15,49 m? & Reduit F=======1
3,45 m?
A s E=======12
— N AN S B 5 I R
5,34 15 1,50 ( e s jo] ||
g: = ——————~=
> ﬁﬂj Y
I & &
103 =
< Eingang / Gang o L i
A 11,70 m? ~ 1 i
6,05 9% 3,13 7120 ]
- \ \ 6.1 6.4
Treppenhaus Lift
55,05 m? 3,40 m?
1.01 o
Wohnen 2 _
2124w -
EEEN
L § N v 1.02 L
o - (=] [
Kuchvce\.-,
8,43 m?
Ny 2 |
460 | 1,60° | 62 1,108 | [ |
2,285 ‘ ‘ 1.00 ‘ I 11z 2 s
[T il I l-ﬂl
[
6,00
1.08
Balkon o
20,52 m? c‘:;.




	Grundrisse
	EG- Beschriftung + Bemassung




